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In the examplce described in the last lesson we ha three
different stages of analysis: threading, treadling, and tic-up. But
in practice there are often two more intermediary opcrations.

e

Let us take another example (fig.l). We find first the threa-
ding in the same way as in the last lesson (fig.2)., But hcre we may
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stop for a whilc, First of all - the reason why wec start with threa-
ding (we could as wcll start with treadling) is that if we discover
at this stagc that the number of frames required is too high for

our purposes, we may as well stop here, and save timc and effort.
Thc other reason is that we may find the threading rather unortho -
dox, with unusunl sequence of harness-frames, At this stage it is
qultc easy to change the threading into a simpler or morc conven-
tionnl draft, because ncither the tic-up or the treadling are made
as yct, For instance in fig.2 we have a draft which is quite correct,
but unconventional. We may find the threading easicr if we change

it into the draft in fig.3 simply by exchanging frames 3 and 4,

his is the first intermediary stage: the rearranging of the threa-
ding draft.

Then we find the treadling draft as usual, and in result
we get the draft on fig,4., There is nothing wrong with it, cxcept
that if we use it for wenving, we shall not be able to alternate
the fecet, which spoils the rhythn of weaving.
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Here again by cexchanging the last two columns we can get
a better draft as in fig.5. Now we can use the right an? the left
foot alternately. And this is the sccond intermcdiary stage of ana-
lysis. Thc last stage is thc same as before: we find the tie-up
fronm both: threading and treadling (fig.6).

Thus we have now 5 stages of analysis:

. Fincing thc threading draft.
Rearranging it.

Finding the treadling draft.
Rearranging it.

Finding the tie-up.
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When rearranging a draft we nust remenber that there are not
lcss than twenty four ways of writing the sanme Jraft for & frames,
and it would bc pointless to try 2ll of theuw before deciding which
onc we like best., We must have a definite purposc when changing
a draft., Usually we would like to make it simpler, ecsicr to thread,
or to adapt it to a standard tie-up. For instance in fip.7 we made
a sinple draft f{rom an apparently complicated onc:
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In fig.3 we have changed the original draft into an casicr onc:
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In fig.9 the sccond draft can be woven on a standard tic-up:
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X X'x X X XX Tx'X_X_ X .
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Not cvery trendling draft can be arranged so that the feet
can be used alternntely, therefore one should not try too hard, For
instance if onc repeat of treadling has an odd number of picks
then it can not be arranged to our entire satisfaction. Huvever if
the same treadle is used twice in succession, then it counts as one
pick. E.g.: 121334243 hns 9 picks or an odd numbcr, but it can be
arranged as follows: 232441314, Of course such rearrangciients can
be Conc only beforc the tie-up is figured out, or it would ncan
changes in the tic-up as well.

In the next lesson we shall dezal with drafts which are too

long for ordinary analysis.
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IN TH: NEXT ISSUE: Gadgets in Handweaving., Pickets and Riddles.
Satins and Satecens. Doubling the Weft. Analysis 4.
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